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Instructor: E. Richer
This test is marked out of 75 marks

Question 1. (2 marks each = 12 marks) |
TRUE or FALSE: For each of the following statements, indicate whether it is true

or false. If the statement is false, give a correction to the statement. -
(@) ~5-1=5

-5 -1 FaLss
S

= —16

Wit

(b) (—64)

(-GL-I)%: (?’, Jey )1'—“ ("LIY-I | & FF}LSZV

i
1

(c)

=x

3

—
—

FALSS

‘_

L
- X

Y

(@) 2—x(3+x) = —6x—2x?

2-3y-Y = 2-x(3tx) FALLS

©-27=(-2)7  TRrys

HV16e=2  TRUS



Que;‘stion 2. (3 marks each = 15 marks)
Using the laws of exponents, simplify the following expressions. There should be
no negative exponents in your final answer.

(@) (—32(—x)*)3(3%0)
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Question 3. (2 marks each = 10 marks)
Evaluate the following.
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Question 4. (6 marks) . .

Ten litres of a fuel-mixture containing 60% oil and 40% gasoline is required for an
engine. To make the fuel-mixture, the only producfs available are a tank of pure
gasoline and a tank of 80% oil and 20% gasoline fuel-mixture. How much pure
gasoline and how much of the 80% oil and 20% fuel-mixture must be combined
in order to get the required product? SRR SRR
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Question 5. (3 marks each = 12 marks)
Isolate the specified variable in the given expressions:
(a) 2a+5=2—(3+a) (isolate a)

2046 = 2-3-a_

Za+5S = ~1-o00 .
Ba. =~¢ Q. =-2Y
(b) 2 +4y = £ —3 (isolate x) |
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1O+ 20xy = %y —15 %
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X = _'ery-HS
(¢) a®b—3(a+b) = 3 —2b (isolate b)
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Question 6. (6 marks)

Solve the system of equations.
x—3y4+3z=-4
2x+3y—z=15
dx—3y—z+=19
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Question 7. (2 marks each = 14 marks)

Perform the following operations on polynomials and simplify the answer.
(a)da’ —2a+3(a—2) — Sa*(a +2)
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ANSWER : )C7'+X-"3J

Cnzek: (x=DIX™+x-3)
= YPrx*-3x-XE-xt3

= x*-Yx+3 corpsey






